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Topic:- CDP_P1_CTET

1) The field of child development is

(1) Unitary and non-scientific
(2) Fixed and static
(3) Interdisciplinary and dynamic

(4) Ambiguous and ancient

freaferfera § & Fi9-97 97 719 FFm #1 g ?

(1) U= ST AT
(2) Mt & 17
(3) AL ATATHS AT ATAefer

(4) FFTTZ ST ATH A

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_106_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) The correct sequence of periods of child development is

(1) Infancy, Prenatal, Early childhood, Adolescence, Middle childhood
(2) Prenatal, Early childhood, Infancy, Middle childhood, Adolescence
(3) Prenatal, Infancy, Early childhood, Adolescence, Middle childhood
(4) Prenatal, Infancy, Early childhood, Middle childhood, Adolescence

Ter ToeRTer T SAATEN T FLT HF HIA-AT1 g ?

(1) fererera™T, THEET, T3 STeaTaeT, FReeTaeaT, TeT STearaedT
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_106_Q2]

1. 1 [Option ID = 5]

2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Development is the result of of nature and nurture.
(1) alienation
(2) disjuncture
(3) interaction

(4) independent actions
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(3) e T

(4) T FTT
[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_106_Q3]
1 [Option ID = 9]
2 [Option ID = 10]

3 [Option ID = 11]
4 [Option ID = 12]
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4) According to Jean Piaget's theory of cognitive development, at which stage do most children
understand conservation, seriation and categorisation ?

(1) Sensorimotor

)
(2) Pre-operational
3) Concrete operational
)

(
(4) Formal operational

ste foarsr % #smrers @ F MEma F o agee afeema =3 Jqa,
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(2) TA- e
(3) = AT
(4) o=t HiEaTeE
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_106_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

3 [Option ID = 15]
4 [Option ID = 16]
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5) Reema has just started to respond to questions in a logical and better organised manner while
specifying the logic behind her response. As per Jean Piaget's theory of cognitive
development, she has entered stage.

(1) Sensorimotor
(2) Pre-operational
(3) Concrete operational

(4) Formal operational

9T F AT 217 21 | qATiw = F AT dgq GHiog 9 § qIA1 At Hi
TRl il TICE FTd GO AT 5 I0< a7 ATCH (h0 g | Wi (oamer F qsreeq
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(1) HARTITATHT
(2) TE-HTFATEET
(3) T HwaT==
(4) Sro=ToR iR TeEE

[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_106_Q5]

1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]

4. 4 [Option ID = 20]

6) Children |learn through interaction with others who are more knowledgeable. This view of

learning is correctin thelightof _ theory given by

(1) Sociocultural; Lev Vygotsky

(2)

(3)
)

(4) Behaviouristic; B.F. Skinner

Sociocultural; Jean Piaget
Psychodynamic; Sigmund Freud

F=4 ATHF THH T FF @9 ATl & ATT Aed 561 2 Higq g | ATy &7 78
forgTe B ELRLY Tz 3 T ¥ w1 2 |

(1) o AT, TTATTS F-T 1 aF

(2) ST TorarTsT, ATHTSIFH-Aiep S

(3) FrTa=E e, AR AT F
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_106_Q6]
1 [Option ID = 21]
2 [Option ID = 22]
. 3 [Option ID = 23]
. 4 [Option ID = 24]
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7) In accordance with Lev Vygotsky's ideas of cognitive development, a teacher should

(1) minimise the interactions among students.
(2) restrict the use of cultural tools.
(3) provide scaffold to students to reach their best potential.

(4) practise rewards and punishments to enhance learning.

WA ATTCE0T 6 AT (=0T 5 IR F dqans, UF JearTh 50 540
FLAT ATGU ?

(1) =TT 7 ST AT F29 F FH-I-FH FG97 31 AT |

(2) ATEF A FraTedl FT1 ITANT FTET FHA7 AT |

(3) =TT 1 THF FAT=TH O T A0 FI H HH AT 347 AT |

(4) ATERTH &7 FHT F7 o Fo10 TZERTT 1T 0 T ITAET FA7 F1ig0 |
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_106_Q7]

. 1 [Option ID = 25]

. 2 [Option ID = 26]

1
2

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) Which of the following statements is correct for theories given by Jean Piaget and Lawrence
Kohlberg ?

(1) Both have given theories of cognitive development among adults

(2

(3

(4) Both theories are stage theories

Both theories have 8 patterns of development

Both theories are limited to the middle childhood period of development

)
)
)
)
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_106_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]

3. 3 [Option ID = 31]
4. 4 [Option ID = 32]




9) A classroom where students are encouraged for pair assignments, group work and discussions

is characterized by
(1) Passive leaming
(2

)

) Collaborative learning

3) Rote memorizing for learning
)

(
(4) Instruction based learning

F THT w47, Sgl FEntiAt 1 SEE TEaad, 99g 7 307 T2 F 9T
o o TorT TTeATiga =T ST 8, S Fem&i =t =47 f4fereear g 2

(1) FiewT afey

(2) FEAWITHT ATEATH
(3) FEE TR AT ATEH

(4) M=o e afeems

[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_106_Q9]

1. 1 [Option ID = 33]

2. 2 [Option ID = 34]

3. 3 [Option ID = 35]

4. 4 [Option ID = 36]

10) The capacity to detect and respond appropriately to the moods, motivations and desires of

others is a characteristic of intelligence.
(1) Intrapersonal

(2)

(3) Interpersonal
(4) Naturalistic

Kinaesthetic

AL T TATREAT, T ST ST i TEA FIAT ST =T = 7 396 0
TTATHAT FAT FhT Frgm=T it = g ?

OEGEREE]

(2) iaefrerea=

(3) AraaaiF®

(4) TpaAT

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_106_Q10]
1 [Option ID = 37]
2 [Option ID = 38]
. 3 [Option ID = 39]
. 4 [Option ID = 40]
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11) Language and thought

(1) develop independent of each other.
(2) interact in myriad ways to influence each other.
(3) don’t get impacted by social context of learner.

(4) both get influenced by environmental factors but not by heredity.

qTaT #T F=ET F A T HL g ?

(1) TE TFH-TAL T F= A TZH [AHaq g g |

(2) T UH-THL FHT FATET F2 F 0 FAoey Tt 7 da: 5 w29 g |
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_106_Q11]
1 [Option ID = 41]
2 [Option ID = 42]
. 3 [Option ID = 43]
4 [Option ID = 44]
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12) Praveen's parents consciously engage in a range of non-typical household chores, such as
father cocking food and mother repairing faulty electronics at home. In such a context, Praveen
is likely to
(1) endorse gender stereotypical segregation
(2) question gender stereotypes
(3) support gender schema

(4) employ gender labelling

FATOT 3 HTAT-TaT STA-gErehT 7 FAT F AATA A AH TFwl § {3 g,
St T3 TOaT Ao 9o T F0 F7d 8, A< qIaT 5 % @I g1 T gerrg i
SIFIO T T FAT g | TH THE F A9 § w0r i 4w vy gl ?

(1) Sie™ =igag FaEm w7 a9dT 9

(2) SieT =iZag gl 9% 79T FHT

(3) Si=T THHET FT qIF T

(4) ST ATHTHRTIT & AT AT HAMT
[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_106_Q12]
1 [Option ID = 45]
2 [Option ID = 46]

3 [Option ID = 47]
. 4 [Option ID = 48]
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13) Diversity among students in a classroom should be

(1) considered as an asset for learning.

(2) seen as a barrier to learning.
(3) ignored by the teacher.

(4) minimised to create equity for all.

FeqT | fE=rTaT 1 FEferear v 5 =5 F a9 =i 2

(1) ATERTH = forT U= HTared 0 F ®T § @q71 J0ig0 |
(2) AfeTH & forw U= aveT F =9 F I A0 |

(3) TEATTH ZTET THAT AFAIGT FeAT AT |

(4) 7T % form wear giera w2 g 27 HiiHd FAr J1ia0 |

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_106_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) According to National Education Policy 2020, assessment at the elementary level should be

A
B.
C.
D.

e T e R R

Formative
Regular
Focused on mere retention of information

Conducive to optimizing teaching-learning

1) A and B only
2)A, B and C only
3hA B,CandD
4)A, B and D only

e forer Sife 2020 % AHATT TEIHE &Y TT ATRAA A1 T =T gET

=R ?

A. THATHT
B. o=
C. TIATHAT F A T[T U< Fivad
D. Toraur-sifasTs i1 IUEFAT & A5

(1) %= A 37 B
()%= A, B#TC
(3)A, B, C #*D
(4) %= A, B @ D

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_106_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]




3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) To promote critical thinking among learners, it is important that

(1) teacher poses very easy questions to students.

(2) teacher follows a rigid timeline for completing the syllabus.
(3) students get ample opportunity to discover knowledge

(4) students are divided into same-ability groups.

foraTeaT & FererEA T HAT W T w9 & (0 T qgeA T g ?

(1) srearoes i =it & agd & AW 997 IEE =1L |
(2) AT A UBIFT T FL & o A=t a9aeEr 5 9 HET
TR |
(3) FE=TT &1 I Jo9 % Y7 397 e 912 |
(4) =TTt =7 3R JHTH AT AT T ! | 341 F2Ar A1t |
[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_106_Q15]
1 [Option ID = 57]
2 [Option ID = 58]

3 [Option ID = 59]
. 4 [Option ID = 60]
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16) To promote inclusion, a teacher should

(1) encourage competition
(2) implement teacher-centered pedagogy
(3) ignore individual differences

(4) practise universal design for learning

HHTAYH T T L o0 A6 T F2AT FLAT1 A1 0 ?

(1) STAATRIATAT T AT FAT A0

(2) AT -Fiva fergrrere AT 1 Fatfeas w77 9y

(3) i~ FHwTaTet T AT FoAT JTE

(4) wifens & araaiEE afiwer () it Granfras ww=r =1te
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_106_Q16]

. 1 [Option ID = 61]

. 2 [Option ID = 62]

1
2

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]



17) Assertion (A) .
For successful inclusion of students belonging to disadvantaged groups, it is important to
include aspects of their culture through various activities.
Reason (R) :
Sense of belonging fosters the motivation to learn.
Chose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

FFFIT (A) :

F=d Tl % FEnAl F GHEIT I AR a9 & (o0, Ig A ¢ &
IHHT TR & UgeA W At aatatadt F arerw 7 anfyer far s
T (R) :
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Hel fAweq g

(1) (A) & (R) STET T21 § AT (R), (A) Ft AT =TT F7a1 2 |
(2) (A) A (R) =TT | € 4 (R), (A) T HET =141 751 2 |
(3) (A) 5T € = (R) T 2 |

(4) (A) &7 (R) 2191 Teq 2 |

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_106_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Use of necessary optical aids and adaptations like large font sizes, magnifiers, etc are
especially important for inclusion of students with

(1) Partial loss of sight
(2) Hearing impairment
(3) Sensory impairment
(4) Total loss of sight



TR AP AT T aqgas, S [ BFz 1 TS7 A (=80 F7 q2T
ATHTT), AT AT, A% FiA-A HEAT F agEes F fw ey = oa
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(1) 3 F aifars arfx

PEERENPE

(3) Ha=T ATfa

(4) 32 T == (F) At

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_106_Q18]

. 1 [Option ID = 69]

. 2 [Option ID = 70]

1
2
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Students having autism often carry strength of

(1) paying attention to detail
(2) expressing their emotions
(3) advanced communication skills

(4) easily switching from one task to another

FATAAT FARTE | (3 T2 (AT Teww) =t 7 g F19-61 38 aran g ?

(1) A= 3 Fie ST/ 297

(2) AT AT T AT

(3) TET HETOTH ATl

(4) TF T T AL FA A AT AETATH ST

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_106_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Whenever presented with a problem, Rakhi comes up with multiple novel solutions for that
problem. This indicates that Rakhi
(1)is a student with giftedness
(2) has average understanding
(3) is facing lack of conceptual clarity
(

4) is overconfident



FAT H S A FATA TR AT ST g, TET IH "4 % [ e s qEran
HHTETE T50 Fedl g | T8 Tl = e 7er i1 dF 59569 F2ar g ?

(1) f=erT wfasT aret =t

(2) e a5 Tt et

(3) FATATEOTTHF TTZAT T FHT

(4) wfaem =0 7 A
[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_106_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Assertion (A) :
A teacher should choose pedagogy and content which yields formation of new knowledge and
advances higher-order skills among students.
Reason (R) :
Children have ability to construct and interpret new knowledge.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
HTHFIT (A) :
HLATTH T THT foreqmemr=ia gfafeay e Fug-a=g &1 =99 F2497 J1e0 §f
A==t & F49 S % g9 AT ITA-FHT HIAA] H THT T2 FTF0
FEAT T |
7% (R) :
T=AT H AT ATH 6 T AT FHH1 SATAT F2d 51 TRIAAT ZAT 2 |
(1) (A) 3T (R) 311 T&T 2 AT (R), (A) F 981 =0=AT F74T ¢ |
(2) (A) 9 (R) Tt @21 & @t (R), (A) FT 721 = 921 £ |
(3) (A) 7ET g @i (R) T € |
(4) (A) #IT (R) I AT 2 |
[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_106_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]




22) Maya, a 14-year-old girl, learns to paint by watching Youtube videos of a young painter. She
believes that she is capable of painting and follows the procedures diligently. Maya's learning
can be termed as

(1) Collaborative learning
(2) Passive imitation
(3) Observational learning

(4) metacognition

14 =TT HT W AT R AT T 07 TEE Ui wEAr HiEdr g |
7% T4 a1a § Feare et g 5% ag Tieew 7 1 gmar wadl g #dw a=qqqr
AT GTHATAT T FTHT FLAT & | HIAT F ATERTH 7 AT FAT =0 AT HFAT S ?

(1) TEHAWITHT ATEATH

(2) GIVER ATHIT

(3) FATATHATHE ATERTH

(4) TETET
[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_106_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Learning happens more effectively if

(1) classroom environment is fearless.
(2) teacher ignores individual differences related to learning among students.
(3) content taught is very complex and abstract.

(4) students opinions are not accounted in discussion of concept.

ATERTH ATEH THTAATAT =T F AT g 37

(1) FATHT ATITATOT 9T T 2T |

(2) s A=t & AT HSa 8T =Aa dd21 fil A73a1 FL 3 |
(3) TETE TE Fr-Av 3ga wfed dF FHT 2 |

(4) TE=rTteTT & 9471 &1 S9eAT T SATEAT & 17 AT JTATAT 0T |

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_106_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]




24) Which of the following should be promoted among students ?

(1) Rote memorisation
(2) Critical thinking

(3) Functional fixedness
(4) Convergent thinking

ot & & e fenfe § agea wor =iy 2
(1) FZef=T (T2 & Tg )
(2) FHTATEATHS =T
(3) =13 e ST
(4) steET =
[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_106_Q24]
1 [Option ID = 93]
2 [Option ID = 94]

. 3 [Option ID = 95]
4 [Option ID = 96]
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25) A problem-solving procedure in which a prescribed step-by-step method should be followed is
alan

(1) Analogy

)
(2) Heuristics
(3) Trial and error
)

(4) Algorithm

g FA-A "Ee-aaEE g g ot Feita sooesaor @ty
AT AT ST 2 2

(1) ST =71

(2) ATHTHY

(3) ¥ UH Ffe

(4) FeT-fafa
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_106_Q25]
1 [Option ID = 97]
2 [Option ID = 98]

3 [Option ID = 99]
. 4 [Option ID = 100]
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26) Which of the following statements are true regarding assessment for learning ?
(i) All errors must be marked with red circles in the notebook to induce fear.
(i) Errors should be used as opportunities to know about students’ learning.
(iii) Peer assessment can be used as a way of feedback to each other.

(iv) Patterns in students’ errors must be taken care by the teacher.

(1) (i) and (ii) only

(2) (i), (ii) and (iii) only
(3) (i) and (iv) only

(4) (ii), (i) and (iv) only

feATeTiad § § F9-5 T JTE8H % 700 ek & J994 § /g1 g 2
(i) 97 F2r F7a F T widr § a1 Ffeat g7 e =g 90
AT ZAT A2 |
(i) TEr=medt = e & e | s F o it 1 o qaaT +
=T H 941 AT |
(iii) TEATET AFAT FT TANT TFH-FAL HT aqe 39 5 foro G
ST HJHAT 2 |
(iv) FE=nfat gy iy w2 g F afteat & ufS s v g

2T AT |
(1) Fa (i) S (i)
(2) F==T (i), (ii) &= (iii)
(3) &= (iii) &T (iv)
(4) FA (i), (iii) 3T (iv)
[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_106_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
27) Assertion (A):
Schools should consider and cater to the emotional side of |earning.
Reason (R) :
Emotions are inseparable from cognition.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.



HEFT (A) :
et =1 Hig" T T 5 GrEATHF T2 1 S H TEAT 7 I FEr
=TT |
T (R) :
ATEATE HATT F TIF 781 2 |
Tl fasheT g
(1) (A) 9T (R) 0T &Y o0 (R), (A) T AT =TT F7aT E |
(2) (A) 3T (R) =TT & € @6 (R), (A) T 5L 22T T € |
(3) (A) T @ (R) T4 ¢ |
(4) (A) 97 (R) FT=T AT 2 |
1[Qu?;ti(.)n I|I; =1%)§]][Question Description = CTET_P1_PART_1_CDP_SET_106_Q27]
2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Which of the following factor leads to intrinsic motivation to learn ?

1) Rewards

3) Interest

(
(2) Punishment
(
(4) Praise

(s R e s e s 0 B M 2 e 0 1 2 1 = M o e 0 e e 1 B 1 s M R
S/ATAT T2TH FLAT g ?

(1) T
(2)3me
() ==
(4) worAT

[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_106_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Which of the following is an environmental factor and not a personal factor influencing learning
?
(1) Leval of understanding
(2
3

(
(4) Intrinsic motivation to learn

Emotional Quotient

Teaching-learning materials

)
)
)
)



Aeafofaa o & Fa-0 Jfamw F7 a9Eg F29 Jre TRadT w9F g T
SATFTd FTF 7@l & 2

(1) FHET T &7
(2) ATATH Aie

(3) fareror-ertearmy TRt

(4) Tra F o st At

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_106_Q29]
1 [Option ID = 113]
2 [Option ID = 114]
3 [Option ID = 115]
. 4 [Option ID = 116]
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30) Which of the following is likely to become a barrier for learning ?

(1) Flexible curriculum

(2) Multiple sensory approach of learning
(3) Same ability grouping of students

(4) Constructivist pedagogy by teacher

feertes | & Fe-a1 At = fo avess &7 761 g ?

(1) =TT aTET=ar

(2) sferTe * form agwast ITE

(3) A== =1 U FHTH ARTAT F AT 9T TAH 0T
(4) AT FTRT TEATATAT fererrees ity giAfAAT F;1 wIT

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_106_Q30]
1 [Option ID = 117]
2 [Option ID = 118]
. 3 [Option ID = 119]
4 [Option ID = 120]
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Topic:- MATH_Q31-45_P1_CTET
1) The difference between the greatest and smallest numbers of three digits is :
(1)888
(2) 888
(3)998
(4)998



T T =T AT AT S ST w7 AT g

(1) 888
(2) 899
(3) 998
(4) 999

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Divide 26 by 2l and add 30 toit. From the result, subtract 35. What do you get ?

26ﬁ%ﬁwﬁﬁt‘qamfﬁwmﬁ303ﬁﬁr{lwvﬁﬂmﬁﬁ35mq| AT
T T e g ?

(1)8

(2) 45
(3)47
(4)18

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) 1f4579 + x + 3885 = 9080, then value of x is :

(1)6016
(2) 606
(3) 626
(4)616

7% 4579 + x + 3895 = 9090 &, AT X FT A2 :

(1) 6016
(2) 606
(3) 626
(4)616



[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) How many twin primes are there between 51 and 100 ?
(15
(2)2
(3)1
4)0

51 #T 100 = == Fhaa srsg 9 g 2

(1)5

(2)2

(3)1

(4)0

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) The LCM of two numbers is 20 times of their HCF and LCM + HCF = 2520. What will be the
difference of LCM and HCF ?

(1) 2420
(2) 2380
(3) 2320
(4) 2280
=T HeATEl FT LCM 395 HCF &7 20 AT § 797 LCM + HCF = 2520 ¢ | LCM
#AT HCF T a7 FIT g ?

(1) 2420
(2) 2380
(3) 2320
(4) 2280
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



6) The largest four digit number that can be formed using digits 8, 1 and 7, in which any one of
these digits can appear twice, is

(1) 8761
(2) 8871
(3) 8771
(4) 8781

T 8, 1 3T 7 F SUANT ¥ AT FT TFHA AT F1C SAFT T Ta9 T2 T2,
STt 39 90§ T FE UF &F I AT G AFAT g, e

(1) 8761
(2) 8871
(3) 8771
(4) 8781

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) A flat surface which extends indefinitely in all the directions is known as :

(1) Point

(2) Plane

(3) Line

(4) Line segment

adl Remdl § aeaa: A uE gurE s R = 8§ S S§E0 S
() =g

(2) T

(3) %@

(4) TETEE

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q37]
1 [Option ID = 145]
2 [Option ID = 146]
. 3 [Option ID = 147]
. 4 [Option ID = 148]

A w N =

8) How many vertices does a triangular prism have ?
(135
(2)6
(3)4
(4)3



Fareft Poregofior arerTe 3 fwer & ey ofief 8130 2 2

(1)5

(2)6

(3)4

(4)3
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q38]
1 [Option ID = 149]
2 [Option ID = 150]

3 [Option ID = 151]
4 [Option ID = 152]

A wN =

9) The side-view of a cone appears as :
(1) Triangle
(2) Circle

(3) Square
(4) Rectangle

T dg AT IRdg T R ST I TFe gt g ;

(1) P

(2T

(3)aT

(4) g
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q39]
1 [Option ID = 153]
2 [Option ID = 154]

3 [Option ID = 155]
4 [Option ID = 156]

A W N -

10) A container has 35 L 560 mL oil. If 875 mL more oil was mixed into it, then total amount of
mixture will be now :
(1) 36 L 435 mL
(2) 32 L 345 mL
(3)28 L 435 mL
(4) 34 L 685 mL



T o | 35 L 560 mL & g | If= TH 875 mL T T fHer fZar smar g,
T & Tor ¥ Fer AT I

(1) 36 L 435 mL
(2)32 L 345 mL
(3)28 L 435 mL
(4) 34 L 685 mL

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q40]

1. 1 [Option ID = 157]

2. 2 [Option ID = 158]

3. 3 [Option ID = 159]

4. 4 [Option ID = 160]

11) In a school, the studies started at 9:15 am and recess was at 12:55 pm. What was the study

time upto recess ?

(1) 3 hours 35 minutes
(2)
(3) 4 hours 35 minutes
(4) 3 hours 25 minutes

3 hours 40 minutes

T =5 § HegaT 9:15 am TF TS FAT TAT HEATHHIS 12:55 pm TF 4T |
HEATAHT T AT q97 Tohaar 751 2

(1) 3 5= 35 T
(2) 3 = 40 =
(3) 4 = 35 Tz
(4) 3 5= 25 Tz

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) A necklace of gold weighs 7 g 6 dg 3 cg 8 mg. If it has pearls of weight 3dg 1¢cg 3 mginit,
then what is the weight of the gold in the neckiace ?
(1)6g9dg 5 cg4 mg
(2)7g3dg2cgd5mg

(3) 7g3dg 3 cgdmg

(4)6go5dg2ecgS5myg



A FTA T TH L I AT 7g6dg3cg8mg? | 72 =08 3dg 1 cg 3 mg
qTT % JT4T 8, a1 59 g1 H A1 T 97 FT ¢ ?

(1)6g9dg Scg4 mg

(2)7g3dg2cgdmg

(3)7g3dg3cgSmg

(4)6gddg2cgd5mg
[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]

3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) Which of the following numbers respectively will come in the blank spaces in the pattern given
below ?

11 %13 =12° -1
15 x 17 = 16" - 1
30 x 32 = 31° -1
_ x46=_ —1
(1)43, 44°
(2) 43, 45°
(3)45, 47
(4) 44, 45°

= B e §, e & & wern Aiw-a1 dean e w4 | A ?
14 548 = 12" = §

15 x 17 = 16° - 1

30 ¥ 32 = 31°_ 1

_ x46=-_ -1

(1)43, 44°

(2) 43, 45°

(3) 45, 47°

(4) 44, 45

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) The mean of first ten odd prime numbers is
(1)12:9
(2)15:8
(3)17:8
(4)168

TR = AU FATST HEATEl T HIE g

(1)12:9
(2)158
(3)17-8
(4) 168
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) The marks obtained by 30 students in a mathematics test are as shown below :
7.1,3,6,5,5,5,0,7,8,1,9,0,58,3,1,8,10,10,4,3,8,6,8,9,2,1,0,4
The number of students obtaining more than or equal to S marks is :

(1)17
(2)16
(3)15
(4)13

T % T =5 7 30 et g 9 B aw #w A= {Ruau g
7,1,3,6,5,550,7,8,1,9,0,5,8,3,1,8,10, 10,4, 3,8,6, 8,9, 2, 1,
0,4

5 & T8 AT IAF TG 0 AT e ATl (ASATHA1 0l GEAT 2
(M) 17

(2) 16

(3)15

(4)13

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q45]

1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET



1) Mathematical thinking is based on :

(1) procedural fluency
(2) intution and observation
(3) logic and observation

(4) logic and reasoning

i =ae AT g

(1) AT TATE TT

(2) FETy (ATH) TH HTATHA IT
(3) T TH HAFTATHA TT

(4) 7% 7F fFE=T 0w

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) While teaching multiplication table for ‘4’ a teacher has used the multiplication table for 2" in
the following way :
4 times 2 is double of 2 times 2.
4 times 3 is double of 2 times 3 and so on.
The objective of the teacheris to :

(1) show his/her mathematical competency
(2) introduce the concept of double
(3) encourage the students to use mathematical tricks to learn the tables quickly

(4) use patterns and relationships to develop new concept using the previous knowledge of
students

‘4’ % U TgTe F U FEa gu U fOrerh § 2 F ugrE A e v '

ST BT

TR, 2AL2FTFETE |

=T 1 3, 2 17 3 FT AT ¢ AT 6T T |

o FT 329 T

(1) =T TOOTHRT TAAT F90AT

(2) T T AFLTIOT FT THE=T 347

(3) T ¢fter e & form ity et &1 ST F7q & forg e #r
TTeATIed HedAT

(4) =N & O3 ST FT ITANT T AT ATATEONA F FHFE I T

AT FAYT T ITANET FHIAT
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q47]



A W N -

1 [Option ID = 185]
2 [Option ID = 186]
. 3 [Option ID = 187]
. 4 [Option ID = 188]

3) A student has the concept of fraction. He/she can easily understand the concept of rational

number, by linking it with fraction. According to Piaget which cognitive process is responsible
for this ?

(1) Scaffolding

(2) Assimilation

(3) Decomposition

(4) Decentration

L 70 e B T 2 o A 12 e R e Pl - e e e e oo e | e o O o e
SITEST ATATHT T TH THhdT g | TS & @qars F19-87 AT 0HF TiHa71 396
foro SeeETT 2 2

(1) 79 (SFHIToee)

(2) #AreTHT FAT (T THTerT)
(3) ATHEA (TTHFATTONLT)

(4) SrEger

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q48]

AW N =

1 [Option ID = 189]
2 [Option ID = 190]
3 [Option ID = 191]

. 4 [Option ID = 192]

4) A grade IV student is unable to do multiplication invelving two digit numbers. Which of the

following can be best adopted by the teacher to help the child |learn multiplication of two digit

numbers ?

(1) He/She should make the student memorize multiplication tables first

(2) He/She should tell the student to use calculator to multiply two numbers

(3) He/She can first help the student with multiplication of single digit number and then use
heuristics for two digit numbers

(4) He/She can perform the multiplication algorithm repeatedly on the black board and ask the
student to solve similar problems using the algorithm taught



FAT IV F1 uF =it 3 @1 ft dend f7 [ 7T ¥ 99w T8 2
\farer=F/FaTTer=T T FT9-HT TER1/ALTF == &7 27 &1 T geaar it qom Far
& T AT 2 2

(1) 35 fa=mft =1 9ger 0 JTUil/aErs ITE A g0

(2) =1 HEATaAr = O FA & o 5w FEwdt w7 Fegaes (T 37) TSI

(3) A T UH HHIT HEAT F UM FA H FATST FT 7% F7 o999 3T
AT FTe Y 0 HEe § SRR T IUAE FY

(4) A IO FEA A FAA-TATE H GATAIZ I [AAF B T9T FH=rdt v
Tt T Faa-FATE F aqaT aHeT GHETE H g9 A & [0 Fig

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) ‘Bus number 75 goes to the Central market.’ Here, the use of number is

(1) Cardinal
(2) Nominal
(3) Ordinal
(4) Serial

FH HET 75 HEe AT ST g | Tgl Jeam Fi7 ERRI A
(1) T (FTTEeT)
(2) wfafea ()

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) When asked to numerically represent the number four hundred and two, a fifth grade student
writes it as 4002. Similarly, for six hundred eight he/she writes 6008. What is the most

appropriate explanation of this misconception ?

(1) The child is simply careless

(2) The child is simply writing the number as he/she hears it
(3) The child has not fully understood the place value system
(4) The child lacks intelligence and mathematical knowledge



FeAT V o e Tt i ser = "y 27 fored F forw gr wren g A1 A7 4002
AT 2 | I 9T = AT 1% A 6008 forEar g/eradr 2 | e it /A TiaE
SO FACEHTOT FAT g ?

(1) F==T ATLTOAAT ATTATS 8

(2) FTETLOTEAT A=AT A | ferEdr g WA Ag o g
(3) T== FT AT AT TUITEAT 2T T07 FHA A2l &
(4) 7== ¥ Ffz v i 5

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]
7) A teacher gives the formula to find the area of a rectangle and asked the children to find the

area of different rectangular cutouts. The teacher is using

(1) Inductive method

(2) Deductive method
(3) Observation method
(4) Laboratory method

TorereF T AT W AATA AT FA F 0 G IAT § AT F=AT H -

ATTATHT. Fe-ATTE FT AT ATH Ferd F (010 Fgdl g | Torsass ST 77 7581 8
(1) FETHATE AR

(2) =TT =t

O EERIETLREIR]

(4) wArrerTeT At

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q52]
1 [Option ID = 205]
2 [Option ID = 206]
. 3 [Option ID = 207]
. 4 [Option ID = 208]

A W N -

8) Janet uses many examples and non-examples of polygons in her class. She uses

mathematical vocabulary and engages the students in discussion. She has the knowledge of
errors and alternate conceptions of children too. As a mathematics teacher which of the

following is most appropriate for Janet ?

(1) She has pedagogical content knowledge

3

)
(2) She has only subject matter knowledge
(3) She has understanding of mathematical errors
(4) She has curricular knowledge



SHe ATAT FAT § TgAS F Fe IAELW UF AT Al g | Ag TS
STEEEIE T SUANT FXAl § A< (ATAAT H TRAAT F G Tl g | I+ T4
F=A1 GIET T 7T Aot T IThr Fswfoas dqam=ost #7 €7 779 § | Feafortas
H & FIF-AT TF TI07F %7 % ¥ | (2 & (o7 " ias g9IF g ?

(1) 39 TqT9m=iT FuT-asg FT AT
(2) 3T Fao AgT A FT AT ©

(3) 3T T AT Fr awA g

(4) TF ITEIHH T AN &

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q53]

1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) In a "Constructivist classroom”, a mathematics teacher can improve the teaching and learning
process by :
(1) reflecting on classroom practices
(2)

(3) focusing only on summative assessment

(4) identifying bright students and preparing them for competitive examinations

giving more guestions for practice

TS “BYAATATA FHTH T 71 U forerss foramr v et giEnar § g 57
AHFAT 2
(1) Tt iRt o7 79T w7
(2) Freame = T Afess 997 3 %7
(3) FAA AETHF ATFHAT T2 EITT Fiad F7
(4) e fAenfeat it w23 52 6T I Iiaanmes 7t F o qqm
FTH
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]




10) According to National Curriculum Framework 2005, teaching and learning methods in
mathematics at primary level should focus on :

A. explorations of various patterns in mathematics

B. developing the skills of estimation and approximation among learners
C. informal ways of learning like games, solving puzzles, etc

D. rigorous problem-solving

Choose the correct option :
1)B,CandD
2)A,BandD
3)A,BandC

4)BandD

e, e

TTSET OTAI=AT ®94ET 2005 5 A9, I w7 9%, T |, e o
A. o | B wiagmt £ 9 7

B. forarfiat § srqare vd Afeewed & H1ael % A 17

C. HATENH FiT AR T AR S &1, Tget gt e, TeATis I%

D. 9¥eE AHEAT-HHTET 97

gl fAFeT 1 577 ffe

(1)B, C #* D
(2)A, B &= D
(3)A, B3 C
(4)B &7 D

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

11) Which of the following are the various structures associated with the concept of division ?
A. Ordering

B. Ratio

C. Egual-sharing

D. Re-arranging
Choose the correct option :
(1)Aand B
(2)BandC
(3)Only B
(4)AandD



treafartes § & fBram & g5eraT ¥ getea At ((FfEy) sw=a sm-
g7
A. FHEHT
B. #FUTH
C. THTH-THAT
D. 9A: AT HTAT
gl et F71 919 F7
(NHAHTB
(2)B #TC
(3) 4o B
4)A D
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Development of numeracy skills does nof imply

1) Knowledge about numbers and number operations

(
(2) Understanding about numbers as well as shapes
(3) Rote memorisation of counting numbers

(

4) Skills required for handling data in real life

HETAT 19T = A #7 5F 7l e

(1) F=ATAT AT F=T HIHATA F T2 H AT

(2) H=TEAT  ATT-ATT ATFAAT F AT H THEA

(3) HEATAT Fl T FET ATE FTAl

(4) ATEATAT STTad § AtFeT F e+ * o0 dAr=a97=F 19
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]



13) At primary stage, mathematics textbooks include a variety of poems, stories and patterns.

Which of the following describes the most appropriate reason for this as per the National
Curriculum Framework 2005 ?

(1) To make mathematics class less boring for the children
(2) To develop the vocabulary of children

(3) To get for some leisure time in the mathematics class

(

4) To make mathematics contextual and related to life experiences of children

AT T F A0 F, AT A= HEamd, Fgraar @< giaar q@a
FEAT T | AT ATE=AT ®0ET 2005 F H9E, TS o Weiatag ¥ |
AT ITIFT FIOO HA-AT g ?

(1) F==1 = form A 67 F4T 7 FH IaT qA07

(2) F==1 T oreITFAT T TAHTH FHTAT

(3) Frfre =T FAT H Ty FLAT F AH9T FAFHTAAT

(4) Tiore =T HEfET THET AT F=A & AT F AT T ST
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) A student of class V performed multiplication of two digit numbers in the following way :
17 x 26 = 17 x (20+6) = 340+ 102 = 442
How should the teacher evaluate this student ?

(1) The teacher should give her zero marks as this is incorrect method.

(2) The student has adopted a different method and hence should be praised and given full
marks for this.

(3) The teacher should deduct some marks for adopting a different algorithm.

(4) The teacher should tell the student to use the same method as taught in the class.

FEAT 5 =T T FE=rdT =0 s T HeAr 5 O I7 T AT e

17 « 26 = 17 x (20 + 6) = 340 + 102 = 442

Torereh/Tarterht =1 gw ==t 7 Geaiehe 9 FIAT A0 ?

(1) ST 7 TH 7T €% I AT U F1 1% T Toaq At g

(2) E=rdT 7 U wey AT 1 gunr BT g 2at I T9iET T I @ 59
EER

(3) forerr/f9TTerT 1 F& A% FEd ATgU FHiih IO UH A FHeAad-1a1a
(TERTITe) =7 I9RT 3T 2

(4) forer=farfarmr A=t v oo & s 3 f@fe =1 s w7 =g s
= e forsror 7 e a3 97




[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) As per National Curriculum Framework 2005 position paper on mathematics appreciating the

richness of 'folk algorithms’ can enrich the child’s perception of mathematics. What is meant by
‘folk algorithms’ ?

(1) An algorithm developed to recite folk songs
(2) An algorithm used in ancient times
(3) Traditional cultural and social activities

(4) The mode of mental calculations used by people who are not formally educated

T 9% LT TEEAT FYET 2005 F AT T F AqHIT A T (A
T TAHZAT FT FHVAITGAT, T2 H1 0 *F =S4 H THZ F7 THal ¢ | T
Fere [t & Aqfaa g 2

(1) @ 3|t & e F o were e #7 G

(2) ST FT | STANT ¥ T2 Faae At

(3) wrin i miepfas ve arTfee afafafEat

(4) ST AR Sa=TRE = ¥ {9 A% 2 3% g7 WA A TS AT Tt
it =

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_106_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) Name of state in which "Nehru Institute of Mountaineering” is located.
(1) Uttar Pradesh
(2) Uttarakhand
(3) Himachal Pradesh
(4) Jharkhand

o o § “agw fvese atw arsefnatr fua g, st am g
(1) 39T 9391

(2) TEvTETE

(3) FBaT=e w=or

(4) AT

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_106_Q61]
1. 1 [Option ID = 241]



2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) ldentify the drug that is nof an example of hallucinogenic drug :
(1)LSD
(2) Hashish
(3) Cannabis
(4) Penicillin

I AT T2 01 TEATT 1o ST T Friedoish q1=50 727 Hl T2 AgI ¢ -

(1)LSD

(2) gforer (st
(3) FATHEAH
(&) Affaf

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_106_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Referred to as ‘Waterman of India’, this environmentalist from Alwar district is engaged in water
conservation :
(1) Jadav Payeng
(2) Rajendra Singh
(3) Medha Patkar
(4) Abid Surti

wo A § Aforw, #e@ae oo |1, 9 w1 GWqeT Fig S 9T, 29
TATALIATAT & AT9 2 -

(1) SIT=T 9T

(2) TR g

(3) HEIT ITEFT

(4) #ferE qia
[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_106_Q63]
1 [Option ID = 249]
2 [Option ID = 250]

3 [Option ID = 251]
. 4 [Option ID = 252]

A wWN =



4) A pattern on Kashmiri Houseboats which appears like jigsaw puzzle is
(1) Deoband
(2) Mehraab
(3) Mugarnas
(4) Khatamband

g TTa=d ST FHHT ZIIAAE UL FEEl-AT Ugel % 5 (@1 g, 9g &

(1) Faae=
(2) FE=

(3) THTT
(4) o=

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_106_Q64]

1. 1 [Option ID = 253]

2. 2 [Option ID = 254]

3. 3 [Option ID = 255]

4. 4 [Option ID = 256]

5) In the textbook for class VV a map of Golconda Fort is printed. On the right bottom of this map

following scale is printed :
Scale 1 cm = 110 metre
If on the map the distance between Fateh Darwaza and Banjara Darwaza is 13-7 cm, the

actual distance between these two places is
(1) 14-07 km
(2) 1-507 km
(3)2:747 km
(4) 27-47 km

FAT V T I35 TF F Mesniver % &3 &1 qW=T gu7 8 | 39 9= 5
e M= 9T 7 Feforfag 9w 2u7 2

9T 1 ecm = 110 Hizx

12 B9 A=A T% Tdg AT AT S0 LA % 9= i 340 13- 7 cm g, a7
T FF1 FATAL H1 AT AT 40 g

(1) 14-07 ferreies

(2) 1-507 FFreTH=T

(3) 2-747 TFerrHTET

(4) 27-47 Terdies

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_106_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6) In an ecological pyramid, the third trophic level is :

(1) Decomposers
(2) Producers
(3) Herbivores

(4) Carnivores

= gri et araraee F e § e T |\ g

(1) FTE=S
(2) T=aTEE

(3) amwTETEY
(4) =TT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_106_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
. 3 [Option ID = 263]
4 [Option ID = 264]

A WN -

7) Gaurav Jaani on his way from Delhi to Mumbai travelled through small and big cities of which
of the following states ?

(1) Maharashtra, Rajasthan, Haryana
(2) Gujarat, Maharashtra, Rajasthan
(3) Rajasthan, Madhya Pradesh, Maharashtra
(4) Madhya Pradesh, Chhattisgarh

2ol & ga< 07 Fa gU A W et edl § 7 5 gie-as el
o ST ?
(1) T, TTSTEAT, ZRATT
(2) T[T, HETEIeE, TTSTET
(3) TS, e U941, g2
(4) FET TFIT, TAITE
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_106_Q67]
1 [Option ID = 265]
2 [Option ID = 266]

. 3 [Option ID = 267]
. 4 [Option ID = 268]

A w N =

8) Chameli from Manali lives in which type of house ?

(1) House made from strong bamboo pillars
(2) Mud house with tiles
(3) House made of stone or wood

(4) Multi-storeyed house



HATEAT H =FHe T T3 T F AT F 751 g ?
(T I F T T ITICH
QurasAaFa

(3) TeIT AT TREST H AT HTH

(4) Tgw ST 7% &

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_106_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) We can prepare a variety of food items from wheat. Which of the following food items is not

prepared from wheat ?

(1) Uttapam and Dosa
(2) Chappati and Cake
(3) Halwa and Poori

(4) Slice bread and Pua

TZ | 29 By 797 F @ =ed 91 9964 ¢ | Feteiag § 7 $9-9 e
EEIRRIEE-RE - R
(1) STIT 49T TTET
(2) FITHT 9T 5
(3) EerET FAT T
(4) TATEH ST AT T
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_106_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Which one of the following is not true about dietary fibre 7

(1) Provide nutrient to our body

(2) Also known as roughage

(3) Help our body get rid of undigested food
(4) Mainly provided by the plants



AT 29Tt 3 fAo | eaferias 8 F -1 77 agiz ?

(1) FHTT 9T T GO0 34T
(2) =eaier WY FET STATE
(3) THTT 9T T A=A ATSA & GeEsht<l I § 75 Fid g
(4) T ot 5T w= R ST 2
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_106_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) In the chapter, ‘The Story of Amrita’ the village Khejadli got its name from :

(1) Ancestors
(2) Children living there
(3) Trees that grow there

(4) Panchayat members

UTS HHAT AT FRA, T UATH TSl hl IHAT A7 7w

(1) Tt &

(2) et AT F2q arer =31 T

(3) Tt T AT FAT |

(4) T=HTIT F TEEAT A
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_106_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Three States having coast on the Bay of Bengal are

(1) Kerala, Karnataka, Tamil Nadu

(2) Tamil Nadu, Andhra Pradesh, Odisha
(3) Gujarat, Maharashtra, Odisha

(4) West Bengal, Odisha, Kerala

FTeT ¥ WIS & A1 aEadf 929l (7757) §
(1) ¥, FA1=a, ATHATS

(2) AFTATE, Wy W, ArfSe

(3) T, TR, Afs T

(4) afere s9rTer, sfgam, e

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_106_Q72]
1. 1 [Option ID = 285]




2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Rainwater harvesting means :

(1) Rainwater is stored in surface or sub surface aquifers
(2) Rainwater is allowed to runoff from roof tops, parks, etc.
(3) Removing dirt from the surface rainwater

(4) Removing salt from the surface rainwater

YT ST HHE AL F

(1) 9T 3 T HT SST07 AT AT AT Al STaqgd 9 grar g
(2) 9T 3 ST T FeAT F FIL T TIT IR F qg A1 =337 1w 2
(3) Tt AT wrer & g/t g

(4) FAET AT A F AAT g2

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_106_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) When was Swachh Bharat Abhiyan launched ?

(1) Mahatma Gandhi's 150" Birthday
(2) Mahatma Gandhi’s 100" Birthday
(3) Subhash Chandra Bose's 100" Birthday
(4) Subhash Chandra Bose's 125" Birthday

=g GTeT ATHATT FF AT AT 797 97 ?

(1) TETeAT T F 1507 T =T 77
(2) FETeAT AT F 1007 T H=FT TT
(3) AT FF T & 1007 T A=A TT
(4) TATT IF T F 1255 TeaiE=aT U7

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_106_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Anemia is caused by shortage of :
(1) Vitamin D
(2) Calcium
(3) lodine
(4) Iron



FTAaaT o & T 3T gl g, T2 8 -

(1) =i = D
(2) Ffomaw
(3) AATE
(4) AT

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_106_Q75]
1 [Option ID = 297]
2 [Option ID = 298]
3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_CTET

1) Preeti an EVS teacher of class lll wants to teach concept of ‘communication’ (of the theme
Travel) using constructivist approach. For this she can

(1) encourage role play related to communication

3

)
(2) promote discussion an controversial issues related to it
(3) plan a field visit to a nearby post office

(4) use blackboard as an effective teaching aid

e Il Fr 7w EVS farferT Sifey, =@owor (am= i & ) #1 =ares 9@
FT WA F25 TZHT ATgAl 2 | T o ag

(1) FSOoT | HeTaa G FGT & Ao d He

(2) FaETeTE Bt & @4 tET Aar-Emey i e d w

(3) T ASTRThT STH-9% T2 A1 & [T &= GO 30 ATo0A7 1091

(4) SATH-TZ T T TATAT (VA0 AL % =9 H TN FHA0

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_106_Q76]

Pl

. 3 [Option ID = 303]
4 [Option ID = 304]

AW N -



2) Folklores are important resource for teaching Environmental Studies.
Which of the following statements provide suitable explanation of this fact 7

A. Folklores develop children’s imagination.
B. Folklores connect children with their environment.
C. Folklores provide moral message to children about environment.
D. Folklores develop interest among children.
E. Folklores develop creativity among children.
(WA, BandC
(2)B,CandE
(3)A,BandE
(4)C,DandE

TR GATE0 ALqT [9r0r 3 form v Fg=agor J9ree 2 |
f=foaa 9 & F9-7 97 39 920 $T ITgFT =414 T219 F7d g ?
ATHHATE T=A1 Dl HoqAT T AT Feal g |

ATHHRATO T=a1 T ATF T F FSAT 3 |

ATFFATE T=A1 0 TAAL 6 A1 | A(cdw H397 =41 ¢ |
ATHHATE T=A1 J T FT AT F2a7 3 |

E. AHHATT F=41 § GATHTAT 7 (2518 F771 2 |

()A, B#TC

(2)B,C #HTE

(3)A, B #HTE

(4)C,DETE
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_106_Q77]
1 [Option ID = 305]
2 [Option ID = 306]

3 [Option ID = 307]
4 [Option ID = 308]

oo w >

A W N -

3) Group activities in teaching-learning of EVS at primary level

(1) helps to include diverse learners in the process of learning
(2) allows a teacher to assess students easily

(3) encourages competition among all students

(

4) helps in covering wide range of concepts and skills



ST T 9T TAE I AEATT & [OAT-ATERTH | AnLie® Ay
(1) =T feverTiarat = draq it g § gt F79 F o 9g=@T 261 2
(2) Torer=s =T FeraT T WAL T TEATHT F9T 39 &
(3) =+t =t | afaeTet i TATgd Fd g
(4) FE=ga =TT 3 Tt UE el Fit AT FId T AgEF g &
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_106_Q78]
1 [Option ID = 309]
2 [Option ID = 310]

3 [Option ID = 311]
4 [Option ID = 312]

A wN =

4) The primary tools for formative assessment include :

(1) Annual or semester examinations
(2) Working on group projects/assignments
(3) Final judgement about students’ performance

(4) Determining students’ success based on the number of passing or failing students

THATCH oA o ATT e STRCOT/ATeAT 5 2 :

(1) AT AT AZAT T TEveAT

(2) T T e TSt/ AT T 0 w0 AT

(3) BT F W= & AT H afae vt aw

(4) TITH FTAT T T AT GUAL A DT F AR TT GIAL A0 AHAAT F

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_106_Q79]
1 [Option ID = 313]
2 [Option ID = 314]
3 [Option ID = 315]
4 [Option ID = 316]

A wN =

5) Anil, student of class 5, asks his teacher Krishnan why it is so that stone sinks in water but
paper does not. What should Krishnan do ?
(1) Explain the concept of solid.
(2) Explain that stone is heavy and paper is light.

(3) Ask Anil to explore which other objects sink in water and tell him that you will learn in your
higher classes why things sink in water.

(4) Ask Anil to compare stone and paper and find the answer.



FAT 5 &1 F=mdt, afFe 9o O Tooe | gear ¢ & oo = 8 & e
THT | G STAT g AT RIS A5l | FOOTT A FAT FIAT AR ?
(1) 3T T AT 5 T2 H THATT |
(2) 7o ATHT § 1Y FWTST Zohl 21 =TT 7 |
(3) @teer | g T 7g a1 ey T3 A=A I =S T T g |, g A7 A
Fg T ot TTT § T T ATAT & AT ATAT AT TST FEATH F LT |
(4) wAteer &7 g B T207 T TS il AT L AT IACEE |
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_106_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) While teaching a unit on 'Water’ an EVS teacher of grade 4 plans to send children to survey
their neighbourhood about availability of clean and safe drinking water. The teacher is trying to

(1) Make a report about water facilities in different areas
(2) Integrate social aspects with environmental factors
(3) Help students learn about water problems in their neighbourhod

(4) Lessen her/his burden for teaching the chapter

‘W' F A uT uF T TRy 9w v FwET IV e demere £ ot
T=A1 & F=g U5 qO0Ad 97 9 F ITAsedr T% 3 TS| F ATA0 (o1
A =0 ATSTAT AATAT g | TOrferaT w2 F7at g

(1) Ef= &=t § stor gl & e & e daw s i

(2) |THTIST TEeg il T TATACONT FTThL 6 AT TH R e 0

(3) T FT TEHAT FIA ¥ o F U TETH 1 ST Ha el THEATA F F1¢ |

G i)

(4) HALATT FT TZTH F AT T F FI2T 7T T T2 FT

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_106_Q81]

1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]




7) Taniread a story in which a fox wants to eat plum but could not reach a plum on a tall tree. Fox

goes away saying that the plum is sour.
Tani had never seen a plum fruit but after reading the story she knows that plum is a fruit.

This incidence confirms which of the following learning principles ?

(1) Children learn from sensory experiences.
(2) Children learn from context.

(3) Children learn from prediction.

(4) Children learn from structuring knowledge.

UE 9T @ ATQIETT 9 del Tgd 9Tal g | AHEr Ig Fed gl Aa! ot g &
ATIETT FETE |

AT T2l FdT ATIETE T A Al 3@T AT Fgl 92d 5 J1% 4 Tg qal
2 & s v e g

T FeAT (M fertag | & e afams g T 1w g ?

(1) F== sfesava qqaai T Had 2 |

(Qa=Fgd g HiEa g |

(3) F=F HAHTT TR HEd g |

(4) == ST HT HL=FAT H H@d 2 |

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_106_Q82]

2. 2 option 0 - 326

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) The concept of ‘Learning by doing’ in EVS means :

(1) using lots of teaching aids in class
(2) including lots of questions while teaching
(3) using different types of lectures and explanations

(4) including role play and project work

EVS & %7 F Hiad & Tead F1 a4 3 :

(1) Fe4T F wgar o1 Foreqor Areigi/aresi w1 ST

(2) TETT TET FZT I TLAT AT AT F7AT

(3) ATH= w&1T T =TATIT TAT TIEEHTI FT FTRT
(4) gt fFramaT Fa7 TR T At #r

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_106_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]



9) Manorama asks her students how many legs does the animals around them have ? As an EVS
teacher, what should be the most appropriate objectives behind this activity ?
A. Toacquaint students about different body parts of animals
B. Toenable the students to appreciate the diversity of animal world
C. To nurture the natural curiosity of the students

D. To provide students an opportunity of observation and exploration
(1)B,CandD
(2)A,CandD
(3) C and D only
(4)B and D only

HATHT AT =t & TodT g & 7% o ore g i A § T i g
? T TATEZ0 HALATT FLATTH & =9 H, T A A18 F e © TG99 STIF 3297
FIA-H 2 AT 2

A. =TT 7 SrEat ® AT o T S T FEwTd w4
B. Ta=mPii & siq wra # fAfs=ar  afa awrgar Awtaa w71
C. TE=mtgt $i HrarEs Tsar &t 9y FAT
D. TE=THaT i dFa @ Ud G0 & A99% T390 HeAT
(1)B, C & D
(2)A, C #TD
(3) %= C &7 D
(4) A B & D
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_106_Q84]
1. 1 [Option ID = 333]

2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) Rohan complains to teacher that Sam has been bitten by an insect and is crushing that insect.
In relation to pedagogy what should be the most appropriate behaviour of a teacher ?
(1) Talk to Sam and forbid him from crushing the insect.
(2) Apply first aid and take Sam to the doctor.
(3) Tell Sam that killing animals is cruelty and punish him.
(4) Ask Sam what will happen if all insects are killed.



T forea® 7 o w2ar g &% &9 %1 v 12 7 Fie T g 6w ag 90 59
2T 2 | Torerr ot & weer H fora= =1 9 ST ST agre #7 2147 A0 ?

(1) FH | =79 7T % IH IS H FFa F FAT H |

(2) FTafHE TUATE F &, AH Bl S & IT9 o S0 |

(3) FH ¥ g T SAT T AT Team g A 39 5 39 |

(4) B 57 T 1% A9 et 2t Fr /e =TI S, 91 F=,r gem |
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_106_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Problem-solving method to teach EVS at primary level should

(1) develop reading and writing skills of children
(2) highlight the impartance of charts and pictures
(3) encourage children to work independently

(4) highlight difficult social problems

AT F9T 9T EVS TR it aaear-aanar e F ATEgATT 2 |

(1) ag F=a1 Y 7@~ ua raw F wraen 51 BFwfEa 5771 F o
(2) =TE TE == % "gTd & SOEIT FI4T & (o

(3) T T TAAT T F VY el & (o0 AT T Foed % o1y
(4) STTEeT ATATSTR THETAT T TSI FLd = fo

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_106_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) At primary level, the EVS curriculum recommended by NCERT is :
A. Prescriptive
B. Suggestive
C. Declarative
D. Explorative

1)AandD
2)BandC
3)Band D

(
(
(
(4)AandC



AT T T, UF.HT.5 A7 AT, 517 Ao T @ JEqae I =4l g
A. TH=RemTET

B. HqAATHF

C. ST

D. S9UTE

(1VA#TD

(2)B#TC

(3)B#™D

@)AdTC
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_106_Q87]
1 [Option ID = 345]
2 [Option ID = 346]

3 [Option ID = 347]
4 [Option ID = 348]

AN wnN -

13) As the child moves from class Ill to class V, the EVS curriculum extends the child’'s
understanding of the world in the following order :
(1
(2
(3
(

Country — City — Colony — Parents — Self
Country - City -~ Colony — Self = Parents
Self ~ Parents — Colony - City -~ Country
4

P W R s

Parents -+ Self -~ Colony - City = Country

FEH-FH F==T FAT |l F FA7 V F F0ET g, TAALT TAIT TEAFAT T4 Al
AT F AT H A A ATArEd w9 § A g far g

(1) 397 - 9187 ~ HIgee T~ ATAT-Ta7 - ¥

(2) 39T - 9TET ~ HIgee T~ T4 ~ HIa1-T0 4T

(3) FF - HTAT-T4AT - HIgee(T - 087 - 39T

(4) ATAT-FIaT - F= -~ Higed T - gL - 39

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_106_Q88]
1 [Option ID = 349]
2 [Option ID = 350]
3 [Option ID = 351]
. 4 [Option ID = 352]

A wWw N =

14) An appropriate activity while teaching the theme ‘Family’ to primary students can include :

(1) Taking children for nature walk
(2) Asking children to write about hobbies of their family members
(3) Counting number of boys and girls in the family

(4) Making them talk about their favourite teacher



TTIHE FAT & g & A 7 gwrg 'wy v st=a Gemmens F anfaer
AREELEE

(1) F==1 FT ITFfaF =7 87 F forg & s

(2) F==T | FgAT % T AT qiAT F qIHAT == F A o

(3) TT¥ATE | TT=ohi UA W= hAT T He=AT i [T HeAr

(4) 370 9O T SATTF F A F 19 F9A F oy Fgen

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_106_Q89]

1 [Option ID = 353]

2 [Option ID = 354]

3 [Option ID = 355]
. 4 [Option ID = 356]

A wWw N =

15) In Parents Teachers’ Meeting of class |ll, Salma complains to the class teacher that Akhil does
not eat lunch and he mostly throws it in the dustbin.
As an EVS teacher, what will you discuss in your class with students ?

A. Children should appreciate the efforts of person cooking food.

B. Children should talk openly with their parents about their food preferences.

C. Children should finish their lunch since many children are starving and do
not get food.

D. Children should finish their lunch since the farmer faces lot of hardships to
grow food.

(1)A, B, C and D
(2)B, CandD
(3)A, CandD
(4)A, Band D



FEAT AN il AATTH ATHATTF T o, TAAT FAT FLATIH T ATGT ol
forrTas wdt g T 32 &= 781 F2ar g i dffwas G #i7 #0927 § T

IATE

UF TATHL0 ALAAT F [0AF F =T F, ATT AUAT FT F (S=ATIAT F AT FAT

FAT Foal ?

A. F=HT FT GTAT FATH AT A1k % TATHI 1 TLAT FLdl 10 |

B. @=A1 FT @74 AET-foar & aF= a9 dr= 1 aratasare
(THE) T AT H AT AT AR

C. T=A1 & ATAT WH FIAT ATGY FH((% Fg F=al HI GIAT Agl 7 qT
=E

D. =51 &1 AUAT &= Geq FIAT FATRT FA(T T F:T o ST

forT, g1 wfEATa 1 JTHAT F2AT T2

(1)A, B, C =D

(2)B, C &7 D

(3)A, C & D

(4)A, BT D

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_106_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

The factor that plays no role in disease becoming pandemic is :

(1) size of the population

(2) migration of rural folks to cities
(3) rapid increase in life span
(

4) international trade

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q91]

A wN =

1 [Option ID = 361]
2 [Option ID = 362]
3 [Option ID = 363]
4 [Option ID = 364]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

Which of the following statements is false ?

(1) Twenty pandemics have occurred during the last twenty years.
(2) COVID-19 spread all over the world in seven manths.

(3) Pandemics have left a significant mark on historical events.

(

4) Europeans who migrated to America carried diseases with them.

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q92]

A wN =

1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]



3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

Which of the following statements is reflected in the passage?

(1) Europeans who colonised the Americas had to face the native Indians.
(2) The natives lost only because of superior European firepower.

(3) The Europeans defeated the Africans in the same way.
(

4) Napoleon's armies became sick with ‘flu’.

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q93]

A wnN =

1 [Option ID = 369]
2 [Option ID = 370]
3 [Option ID = 371]
4 [Option ID = 372]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

Which of the following statements is nof true?

(1) Londoners paid more attention to sanitation after the outbreak of cholera.
(2) The pandemics made scientists do research on their causes.

(3) Napoleon wanted to build the Suez Canal.
(

4) Nothing good ever comes out of a pandemic.

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q94]

A wN =

1 [Option ID = 373]
2 [Option ID = 374]
3 [Option ID = 375]
4 [Option ID = 376]



5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

Study the following statements :

(2) Newer and newer pandemics will keep on infecting mankind.

(b) Pandemics have affected both man and animals all through history.
(1) (a) is correct and (b) is incorrect.

(2) (b) is correct and (a) is incorrect.

(3) Both (2) and (b) are correct.

(4) Both (2) and (b) are incorrect.

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q95]

A W N -

1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

‘...native Indians who resisted colonial invasion.... .’
The underlined statement is of a/an clause.
(1) Principal

(2) Noun

(3) Adjective

(4) Adverb

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q96]

A wWw N =

1 [Option ID = 381]
2 [Option ID = 382]
3 [Option ID = 383]
4 [Option ID = 384]



7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

‘any contagion faster and further.’
The underlined word is a/an

(1) Noun

(2) Pronoun
(3) Adverb
(4) Conjuction

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q97]

A w N =

1 [Option ID = 385]
2 [Option ID = 386]
3 [Option ID = 387]
4 [Option ID = 388]



8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

‘A live example is ........
The underlined word does nof mean :
(1) functional

(2) active

(3) idle

(4) effective

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q98]

A w N =

1 [Option ID = 389]
2 [Option ID = 390]
3 [Option ID = 391]
4 [Option ID = 392]



9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

The ecological processes that determine disease outbreaks to reach pandemic proportions are
the size and distribution of population and movements of the infected and vulnerable hosts and
disease-carrying viruses.

The fact that five of the major 20 pandemics have occurred within the past 20 years speaks for
itself about the effects of population explosion, rapid urbanization and increased life
expectancy. The more aged a person becomes, the more weak he gets and may possibly
contract one or the other debilitating disease. Vulnerability increases. As for movement of
population, intercontinental travel and trade have made spread of any contagion faster and
further. A live example is the ongoing pandemic which spread across the globe in a record
seven months.

Pandemics have ravaged humanity all through history, causing innumerable loss of human
lives and livestock, so much so that they have changed history at times. The successful
colonization of the Americas by Europeans was possible because of the microbes. It is said
that native Indians who resisted colonial invasion died more of imported infections from the Old
World (Europe) than sword and bullet wounds. On the contrary, the Europeans could not
conquer the tropical African continent as the natives there had already got infected and
developed immunity against certain diseases.

Napoleon Bonaparte's relentless Victory March was halted by the 'flu’ pandemic. The French
had to abandon construction of the Suez Canal, when hundreds of thousands of forced
labourers died of cholera.

Not all is dark about a pandemic : there are silver linings too. For instance, public health
measures such as sanitation and safe drinking water were offshoots of the great cholera
pandemic of London. The causative bacteria of cholera and tuberculosis were discovered
during the heights of pandemics.

Vaccines of various platforms were introduced during pandemics and the COVID-19 shots
which evolved in a record 11 months stand testimony to it. Emerging and re-emerging
infections will keep spreading among people. History can repeat itself but lessons must be
learnt.

‘Pandemics have ravaged humanity .....
The underlined word means the same as :
(1) encouraged

(2) devastated

(3) raised

(4) dared

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q99]

A wWw N =

1 [Option ID = 393]
2 [Option ID = 394]
3 [Option ID = 395]
4 [Option ID = 396]

Topic:- ENG_Q100-105_L1_P1_CTET



1) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfart in morning, joy in the noon day.

The poem is full of :

(1) anger
(2) pathos
(3) euriosity
(4) disdain
[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q100]
1. 1 [Option ID = 397]

2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

2) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her [ap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfort in morning, joy in the noon day.

The speaker is a/an
(1) black boy

(2) hungry child

(3) angry child

(4) school boy



[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q101]
. 1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]

A W N -

3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfort in morning, joy in the nhoon day.

Choose the correct statement :

1) The child is unhappy and the mother consoles him.

(
(2) The child is angry and the mother tries to comfort him.
(3) The child is curious and the mother satisfies him.

(

4) The child is disdainful and the mother teaches him the lesson of love.

[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q102]
1 [Option ID = 405]
2 [Option ID = 406]
3 [Option ID = 407]
4 [Option ID = 408]

A wN =



4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfart in morning, joy in the noon day.

Study the following statements :

(a) God is a source of light and warmth.

(b) He gives comfort only to plants and beasts.

(1) (a) is correct and (b) is incorrect.

(2) (b) is correct and (a) is incorrect.

(3) Both (a) and (b) are correct.

(4) Both (2) and (b) are incorrect.
[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q103]
1 [Option ID = 409]
2 [Option ID = 410]

3 [Option ID = 411]
4 [Option ID = 412]

A w N -



5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfart in morning, joy in the noon day.

‘White as an angel is the English child.’
The figure of speech used in this line is a/an

(1) Metaphor
(2) Personification
(3) Alliteration
(4) Anaphora

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q104]
1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
4 [Option ID = 416]

A W N -



6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
My mother bore me in the southern wild,
And | am black but O! my soul is white;
White as an angel is the English child :
But | am black as if bereav'd of light.
My mother taught me underneath a tree
And sitting down before the heat of day.
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun : there God does live
And gives his light, and gives his heat away.
And flowers and trees and beasts and men receive
Comfart in morning, joy in the noon day.

‘as if bereav'd of life’
The underlined word here means the same as :

(1) composed
(2) deprived
(3) teased

(4) died

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q105]
1 [Option ID = 417]
2 [Option ID = 418]
3 [Option ID = 419]
4 [Option ID = 420]

A WN -

Topic:- ENG_Q106-120_L1_P1_CTET

1) Checking grammar, punctuation and spelling while writing a paragraph are the
stage of process writing.

(1) editing
(2) drafting
(3) brainstorming
(4) feedback

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q106]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]



2) A school inspector visited the school and observed the different sections of class-1, where the
language period was on in each class. Which language teacher do you find, is using the most
suitable and ideal way to teach language ?

1) The first teacher was writing the letters of the alphabet on the board.

(
(2) The second teacher was singing rhymes, songs and then telling stories.
(3) The third teacher was teaching them grammar with examples.

(

4) The fourth teacher was teaching them the spelling of words and then taking dictation.

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q107]
1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
4 [Option ID = 428]

A W N -

3) Which of the following is the developmental goal of foundational literacy and numeracy as per
NIPUN Bharat Mission ?
(1) Children become effective readers.
(2) Children become effective communicators.
(3) Children become effective writers.
(4) Children become involved listeners.
[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q108]
1 [Option ID = 429]
2 [Option ID = 430]

3 [Option ID = 431]
4 [Option ID = 432]

A wWN =

4) National Education Policy (NEP) 2020 strongly propagates a three-month school preparation
module to make children grade ready for

(1) Pre-school
(2) Bal Vatika
(3) Grade-1
(4) Grade-2

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) Read the following statements :
Assertion (A) : Language proficiency is the ability to produce gramatically correct sentences.

Reason (R) : Language proficiency is the ability to use the language with ease and fluency.
Choose the correct answer from the following code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]



4. 4 [Option ID = 440]

6) Which among the following is not true about a textbook?

1) it is the chief operational tool to implement the syllabus.

(

(2) It presents different genres of literature.

(3) It helps achieve the objective of curriculum.
(

4) 1t is planning of educational activities.

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) A teacher believes that parents are important stakeholders and should be involved and
communicated with regularly. This can be achieved by

(1) informing parents that their children are not able to perform better.
(2) discussing children’s portfolio with parents on a regular basis.

(3) inviting parents in co-scholastic areas rather than scholastic areas.
(4) capacitating the parents with learning theories.

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q112]
. 1 [Option ID = 445]
2 [Option ID = 446]
3 [Option ID = 447]
4 [Option ID = 448]

A W N -

8) Which one of the following pedagogies is most stressed and focused on by the NEP 2020 for
children of 3-9 years age group?

(1) Event-based pedagogy

(2) Cross-curricular teaching approach

(3) Toy-based pedagogy

(4) Differentiated Instruction practice pedagogy

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q113]
1 [Option ID = 449]
2 [Option ID = 450]
3 [Option ID = 451]
4 [Option ID = 452]

A wN =

9) Initially the pre-school teacher usually gives picture books to the learners of her class, instead
of teaching them the alphabets. Her purpose of giving picture books is to

(1) engage learners when she’s busy and exposing them to various colours.
(2) make them draw such pictures in the future.

(3) introduce them to reading and start their language development.

(4) assess their basic skills with which they have entered the school.

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) Which of the following classroom practices would be developmentally appropriate for children
of foundational age?
(1) Introducing five difficult words each day
(2) Beginning each day with a half-hour circle time
(3) Introducing new concepts gradually

(4) Providing regular differences in routine

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) Read the following statements :

Assertion (A) : A language-across-the-curriculum perspective is important for primary
education.

Reason (R) : Language is best acquired through different meaning-making contexts, and hence
all teaching, is in a sense, language teaching.
Choose the correct answer from the following.

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q116]
. 1 [Option ID = 461]
. 2 [Option ID = 462]

1
2
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) A child’s home language and the language of instruction in school are same. This is a resource
for a teacher because
(1) it will make him multilingual.
(2) she can develop social language in them.
(3) it will help her to carry out higher cognitive activities of thinking, reasoning in that language.
(4) now the responsibility of teaching reading and writing to a child can be taken up by

parents.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) A language teacher is writing the statements that describe exactly what a student will be able
to do, in some measurable way after the class in her teacher’s diary. These statements are

(1) Learning outcomes
(2) Language competency
(3) Aims of language education

(4) Learning levels

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q118]



1 [Option ID = 469]
2 [Option ID = 470]
3 [Option ID = 471]
4 [Option ID = 472]

A W N -

14) Multilingualism as a strategy means

1) teaching of many languages in school.

(
(2) teaching-learning of mother tongues of all learners.
(3) making use of the languages of learners.

(

4) enabling learners to learn foreign languages.

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q119]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

15) A child while coming to school and going back observes signboards, placards, labels,
wrappers, etc. and interacts with many such forms of print. This observation and interaction will
help a language teacher to foster skills needed for

(1) drawing

(2) reading

(3) listening

(4) painting

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_106_ENGLISH_Q120]

1. 1 [Option ID = 477]

2. 2 [Option ID = 478]

3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- HIN_Q121-128_L2_P1_CTET



") fAEer ; fAETorEe e FOUEET TE T TAT F AgT [T U I AT
fame &7 AT |
Sreer o 99 g, A S T= FAAT 6, TN %7 oaT g | THia gf eiest g Fe
1 H 3T 2 | AT AT H e T Far g | S AR Foal F7T, Soal
F T TE TG ¢, F ATEAT F, ‘FefT AT, AA FH D AT AR D0 A1
FOA | AHEAAT AT T Irgl 0 ATH 2rav 2, ST AT 1 § @ T 3 |
aid |9 & BT FE A w § AT =9 " 5 99 99E0 g | I0= we
T | TATE @ & qod TATq TOaAT F=8 21 Al HEFT F:7aT g, 71 Ig a5t
i qEar g | o1 &t Taar of 9T 3, 99 T 91 G99 9% 8 gni |

FAT ATk Siead 960 TTH FT a1 g ?
(1) ST HAT T IZAT S

(2) ST HiosT TETT g

(3) ST STe=aTSI T F2AT g

(4) ST efiv-efiT I F7aT 2
[Question ID = 454][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q121]
1. 1 [Option ID = 1813]
2. 2 [Option ID = 1814]

3. 3 [Option ID = 1815]
4. 4 [Option ID = 1816]

2) fader ; AEforiET T=Ter # UEFT e U0 T4 # fgl [9EE gugT 997 a7
fa=oT Fr g7 |
o o & 8, 92 S T2 FAT 2, IH T AT | WHid g6 TS 4y F7
T #F ZAT 2 | A ST H AT T Gaar g | S AnT Soal Fil, Soat
T AT TE A &, T ATEARA |, e 749, A T A ATHAT ACHIF D A AT
FIA T | AFAAT ST TEATT Iral 0 GIH 2rdT 3, ST 4403% FH H o9 2d 2 |
orter w9 & BT F & F F Wi = & 79 a9y @war g ) 712 w7 e
TiFeT § TATE o9 % qid TATH 0T w6 2 il FEAT F1 2, 77 g a0
fAaia TEar g | & Fr e o T Ar, TN FO-9TE 97 99 9 865 g |

Tf3 AT i gr v

(1) =7f<F & o7 STaT g

(2) =% & AT 4T ATHAET S
(3) FH T H AT HT IO 21 10 2
(4) FH THT § FTH T Aq1ET1 8

[Question ID = 455][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q122]
1. 1 [Option ID = 1817]



2. 2 [Option ID = 1818]
3. 3 [Option ID = 1819]
4. 4 [Option ID = 1820]

3 fader ; [AEforiaT T=rer # UgFT e U0 T & gl [9ed gugT 997 a7
e FT FfA7
s o & g, 98 S T2 AT e, IH KT AT | WHid g6 s 4y F7
F1 17 T4 g | & SaT | AeA-YITH FT 51F Fraar g | ST A0 ‘Soar 71, Toaf
A [ TF 0T ¢, A ATeAT F, ‘FefT A, AA HH' AT ATHT AR 00 Fa19
FOA 2 | AFAAT ST TEATT Iral A1 GIH 21dT g, ST 4473F FTH § o 2 2 |
orte w9 & BT e & F F W = & 79 a9y @ar g 72 w7 e
TiFeT § TATE o9 % qid TATH 0T w0 2 T FEAT F1 2, 71 g a0
o qEar g | g&1 & Fhaar ot T &7, 99 T 91 99 97 8 gni |

&7 Srae J

(1) & |11 Giot Aarar g
(2) & AT HATT AT4T 3

(3) AFHAAT &AL FEHTT ATAT &
(4) TFAT AT G ATATE

[Question ID = 456][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q123]
1. 1 [Option ID = 1821]
2. 2 [Option ID = 1822]
3. 3 [Option ID = 1823]
4. 4 [Option ID = 1824]



4 fader : fREfefaa T=rier @it UgHT Q5 77 THT & gl A9 g 597 I
fame &7 AT |
Sreer o 99 g, A S T= FAAT 6, TN %7 oaT g | THia gf eiest g Fe
1 H 3T 2 | AT AT H e T Far g | S AR Foal F7T, Soal
F T TE TG ¢, F ATEAT F, ‘FefT AT, AA FH D AT AR D0 A1
FOA | AHEAAT AT T Irgl 0 ATH 2rav 2, ST AT 1 § @ T 3 |
aid |9 & BT FE A w § AT =9 " 5 99 99E0 g | I0= we
T | TATE @ & qod TATq TOaAT F=8 21 Al HEFT F:7aT g, 71 Ig a5t
i qEar g | o1 &t Taar of 9T 3, 99 T 91 G99 9% 8 gni |

‘FefiT 7w, T T 7 e g T anfiT =Ry

(1) e ¥ F1F F7ar ¢
(2) T FTH F Teal FdT g
(3) T T FTA H ATEH THT FAATAT 5

(4) STaT § THeAT AT TEA 19T ¢
[Question ID = 457][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q124]
1. 1 [Option ID = 1825]
2. 2 [Option ID = 1826]

3. 3 [Option ID = 1827]
4. 4 [Option ID = 1828]

5 faeer ; [AEforiad T=Ter # UEFT e A7 T4 # gl [9EE 3ugT 997 a7
fa=oT Fr g7 |
o o & 8, 92 S T2 FAT 2, IH T AT | WHid g6 TS 4y F7
T #F ZAT 2 | A ST H AT T Gaar g | S AnT Soal Fil, Soat
T AT TE A &, T ATEARA |, e 749, A T A ATHAT ACHIF D A AT
FIA T | AFAAT ST TEATT Iral 0 GIH 2rdT 3, ST 4403% FH H o9 2d 2 |
orter w9 & BT F & F F Wi = & 79 a9y @war g ) 712 w7 e
TiFeT § TATE o9 % qid TATH 0T w6 2 il FEAT F1 2, 77 g a0
fAaia TEar g | & Fr e o T Ar, TN FO-9TE 97 99 9 865 g |

TN T ST F I ATEAT Al FHedl Argy &
(1) TATE @7 9T A TIA 30 gl ST

(2) 98 AT 3 F TATH H2IT
(3) ST = g2 FATE HEAT gl
(4) T TEF AGAT TATES T FTHAT HAT

[Question ID = 458][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q125]
1. 1 [Option ID = 1829]



2. 2 [Option ID = 1830]
3. 3 [Option ID = 1831]
4. 4 [Option ID = 1832]

6) fader ; AEforiad T=rier #1 9gFT Je 7 FAT & fgl [°99E 3T 997 a7
e FT FfA7
s o & g, 98 S T2 AT e, IH KT AT | WHid g6 s 4y F7
F1 17 T4 g | & SaT | AeA-YITH FT 51F Fraar g | ST A0 ‘Soar 71, Toaf
A [ TF 0T ¢, A ATeAT F, ‘FefT A, AA HH' AT ATHT AR 00 Fa19
FOA 2 | AFAAT ST TEATT Iral A1 GIH 21dT g, ST 4473F FTH § o 2 2 |
orte w9 & BT e & F F W = & 79 a9y @ar g 72 w7 e
TiFeT § TATE o9 % qid TATH 0T w0 2 T FEAT F1 2, 71 g a0
o qEar g | g&1 & Fhaar ot T &7, 99 T 91 99 97 8 gni |

e areg § Sl Ty St g ?

(1) ==
(2) &A=
(3) TFHTAT

(4) ToTeaT

[Question ID = 459][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q126]
1. 1 [Option ID = 1833]
2. 2 [Option ID = 1834]
3. 3 [Option ID = 1835]
4. 4 [Option ID = 1836]



7 fAder : [RETeET TETr BT UEHT Qe TT TAT F Ggl | TET gug 397 AT
fame &7 AT |
Sreer o 99 g, A S T= FAAT 6, TN %7 oaT g | THia gf eiest g Fe
1 H 3T 2 | AT AT H e T Far g | S AR Foal F7T, Soal
F T TE TG ¢, F ATEAT F, ‘FefT AT, AA FH D AT AR D0 A1
FOA | AHEAAT AT T Irgl 0 ATH 2rav 2, ST AT 1 § @ T 3 |
aid |9 & BT FE A w § AT =9 " 5 99 99E0 g | I0= we
T | TATE @ & qod TATq TOaAT F=8 21 Al HEFT F:7aT g, 71 Ig a5t
i qEar g | o1 &t Taar of 9T 3, 99 T 91 G99 9% 8 gni |

THT 9153 | TH Togg T T2 9758 AT

(1) F= =

(4) TR
[Question ID = 460][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q127]
1. 1 [Option ID = 1837]
2. 2 [Option ID = 1838]

3. 3 [Option ID = 1839]
4. 4 [Option ID = 1840]

8 fader - Al Terier #T 927 Qa5 707 T41 % Tg1 |7TH S IO 70
fAFeT # FAT |
foreeh o &Rt g, A ST T=u AT 2, TTH 6L oaT g | Whid gH it gy e
Y #f AT | Ao oftae H - G GIAAn g | SOAN Soal FwEl, ot
A0 [ TE T g, A ATeA F, ‘FefT 7, AA FH A ATHIT AR 00 F2a19
FIA 2 | TTAAT 3T TEATT el & 97 2ial g, S g474% FH § @ g 2 |
orter w9 & BT F & F F Wi = & 79 a9y @war g ) 712 w7 e
TFET | TATS o % god TAT TOadT FeF g7 H1 FHEAT H7a71 g, a1 qg At
i qEar g | g&7 & Fhaar ot 7 &1, 99 AT a1 99 97 8 g [ |
AT T AT-A=eE
(1) 71 + 30
(2) AT + 3R
(3) =T + dirfen
(4) T + 7R

[Question ID = 461][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q128]
1. 1 [Option ID = 1841]




2. 2 [Option ID = 1842]
3. 3 [Option ID = 1843]
4. 4 [Option ID = 1844]

Topic:- HIN_Q129-135_L2_P1_CTET

") R - REforfET TET #T UBET qE AT T & A1 | T9H SugT g7 I
Aoy i g7 |
s ot Fafaar s=deT a7 5dT e, ST [geT StAn % Ar=el % T AT |
IR A HAT AYAT ATLAT AT F 10 T=T 721 o 52 A6 T=2Hi 7 0
FATAT FAT ST IAHT 39T 349 F At=q ofF a1 g7 721 off | &= F Aravan &
el AT B /AT F T H GEA T Jigar 48 g | S G G Tl Feh
2 | T AT AT B A= BT H TS 2 | FH T AT T AE9 799 g |
HTAT % TH g9 6T T7 7 I @i | A1 A1 % (o0 S8 771 8, a9 o gd A
TATA FY | TH A9 T 1 3 | gATY 84T § 92919 7 21 | 9T &t 7 397
S & T OAT 979 g | T AT ATl 0 UHT qic® Sepid & 92 F T@dr g |
qTE T g FETHARF AL

(1) T&=

(2) SraT-AfET

(3) =g

(4) AT
[Question ID = 462][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q129]
1. 1 [Option ID = 1845]
2. 2 [Option ID = 1846]

3. 3 [Option ID = 1847]
4. 4 [Option ID = 1848]



2 fAder ; Feferfae Terisr #17 929 T T FHT F a8 (79 3w 997 a7
fameT Fr AT |
s AT FafEar a9 a7 33T A, AT e Siad & AEe & O A |
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irgid AT T AT F T H AT Jigar 49 g | S W T 9H T Fgw
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AU ATATAN FT A= o BT H O 2 | HAH AT UE A= qHe 2 |
HTAT % T8 g8 7 #3715 §=F 21 | FUAT JarT & o0y 5 /AT g, 39 g1 g7 of
TEIT A &% | 9 A9 T % 1 | AT 54T § 95919 7 27 | AT & 7 399
A & Wia UHT 979 2 | 38 AO91 A0 50 UHT S aF Se5id & 90 § =@ar g |
AT g =i 569 a9 | g9t 4F 2

(1) STt B &

(2) AT YEET SAT 7

(3) ATTHTT agAT

(4) ATEATT TR |
[Question ID = 463][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q130]
1. 1 [Option ID = 1849]
2. 2 [Option ID = 1850]

3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]




) fAder ; [Feferfae Terisr #7 9297 T T FH1 F T8 (79T 39 997 7
fameT Fr AT |
s AT FafEar a9 a7 33T A, AT e Siad & AEe & O A |
I T AT ATAT ATEAT Al = fow T=1 A o Toreg &= 9=t 5 0
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irgid AT T AT F B F GEAT gt 49 g | S0 G I T Fgwe
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AU ATATAN FT A= o BT H O 2 | HAH AT UE A= qHe 2 |
HTAT % T8 g8 7 #3715 §=F 21 | FUAT JarT & o0y 5 /AT g, 39 g1 g7 of
TEIT A &% | 9 A9 T % 5 | AT ST § 95979 7 27 | AT & 771 399
A & Wia UHT 979 2 | 38 AO91 A0 50 UHT S aF Se5id & 90 § =@ar g |

HETT § Ar=9T Heg g
(1) =frer
(2) 7594
(3) AT
(4) FE
[Question ID = 464][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q131]
1. 1 [Option ID = 1853]
2. 2 [Option ID = 1854]

3. 3 [Option ID = 1855]
4. 4 [Option ID = 1856]




4 fader : fREfefaa T=rier @it UgHT Q5 77 T & gl A9 guT 597 I
fameT Fr AT |
s AT FafEar a9 a7 33T A, AT e Siad & AEe & O A |
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irgid AT T AT F T H AT Jigar 49 g | S W T 9H T Fgw
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AU ATATAN FT A= o BT H O 2 | HAH AT UE A= qHe 2 |
HTAT % T8 g8 7 #3715 §=F 21 | FUAT JarT & o0y 5 /AT g, 39 g1 g7 of
TEIT A &% | 9 A9 T % 1 | AT 54T § 95919 7 27 | AT & 7 399
A & Wia UHT 979 2 | 38 AO91 A0 50 UHT S aF Se5id & 90 § =@ar g |
TR § e R A A AT g 2

(1) AT H

(2) wrT |

(3) T A

(4) TAT H
[Question ID = 465][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q132]
1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]

3. 3 [Option ID = 1859]
4. 4 [Option ID = 1860]



5 fRder ; [Feferfae Terisr #7 929 T T FHT F a8t (79 3 997 a7
fameT Fr AT |
s AT FafEar a9 a7 33T A, AT e Siad & AEe & O A |
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irgid AT T AT F T H AT Jigar 49 g | S W T 9H T Fgw
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AU ATATAN FT A= o BT H O 2 | HAH AT UE A= qHe 2 |
HTAT % T8 g8 7 #3715 §=F 21 | FUAT JarT & o0y 5 /AT g, 39 g1 g7 of
TEIT A &% | 9 A9 T % 1 | AT 54T § 95919 7 27 | AT & 7 399
A & Wia UHT 979 2 | 38 AO91 A0 50 UHT S aF Se5id & 90 § =@ar g |
T AT A9 1 0
(1) ATS, TS THTH T T Z401 2 |
(2) ATAFHAT FT HEHL 3412 |
(3) TATH A TEATT % AT FT 919 =T 3 |

(4) Sr=eT ATAH * O AA 2 |

[Question ID = 466][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q133]
1. 1 [Option ID = 1861]
2. 2 [Option ID = 1862]
3. 3 [Option ID = 1863]
4. 4 [Option ID = 1864]



6) fRder : fAeferfae Terisr #1 929 T T YA F Tg (7E S 997 7
fameT Fr AT |
s AT FafEar a9 a7 33T A, AT e Siad & AEe & O A |
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irgid AT T AT F T H AT Jigar 49 g | S W T 9H T Fgw
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AU ATATAN FT A= o BT H O 2 | HAH AT UE A= qHe 2 |
HTAT % T8 g8 7 #3715 §=F 21 | FUAT JarT & o0y 5 /AT g, 39 g1 g7 of
TEIT A &% | 9 A9 T % 1 | AT 54T § 95919 7 27 | AT & 7 399
A & Wia UHT 979 2 | 38 AO91 A0 50 UHT S aF Se5id & 90 § =@ar g |
Tt T TAIATHT 952 7@

(1) =T
(2) St
(3) &=t
(4) ST

[Question ID = 467][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q134]
1. 1 [Option ID = 1865]
2. 2 [Option ID = 1866]
3. 3 [Option ID = 1867]
4. 4 [Option ID = 1868]




7 fder ; fAETefae TErer # 9EET 9 T FHT & 9gT [99H 3ugT 997 a7
fameT Fr g7 |
s ot FafEar s=deT a1 ST AT, S [ged Stan % Argel % T AT |
IRl A HAT ATAT ATEAE gt = oo =1 g2 o7 Svg @76 7=t 7 o0
FATAT FAT ST IART 39T a9 | At=3d A a7 g7 721 o | @27 F Aravan &
Irele AT B /T F T H GEA T Jigar A9 | S T T3 1 Feh
U 59 AL 34T g, A2l 399 97 Afés e ‘97 agi il °9rar Fwgwe = §En
T | T AT AT BT AR F = H O 2 | 5O H qrged UE A15e 79 2 |
HTAT % TH g9 6T &7 7 G gf | AT A1 F (o S8 771 8, a9 g gd A
THATA FY | TH A9 T 1 3 | gAY 84T § 93979 7 27 | 9T &t 7 399
S & T OHT 979 2 | T AT ATt 0 UHT qic® Gepid & 92 F a2 |

THATTGIZTVAAT . FAYOAEEATE |
(1) TAET TGTAT FTAT

(2) TS ATGET HTAT

(3) FA-FTIT & SFTAT

(4) TE-ZTHT &9 ST

[Question ID = 468][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q135]
1. 1 [Option ID = 1869]
2. 2 [Option ID = 1870]
3. 3 [Option ID = 1871]
4. 4 [Option ID = 1872]

Topic:- HIN_Q136-150_L2_P1_CTET

Y gegmaw 7 BEmad § B9 #r any sfvares 50 7 e afafEtE o G,
AT ISTAT 2T | Uget HAT & [reartd=t #1 °9g afatata G ddg § agran
FAT ?

(1) T TATHT FIAAT & FEHhe F

(2) THTAYTEAT TETIHAT a7 & fr T

(3) T T FHT T AT F To10 GreATigd Fee & fory
(4) TH-ZAL FT TATT FALTOMT T = feqmw

[Question ID = 469][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q136]

1. 1 [Option ID = 1873]

2. 2 [Option ID = 1874]

3. 3 [Option ID = 1875]
4. 4 [Option ID = 1876]




2) FA-HT ATAT ST AT ST ?

(1) 999 9191

(2) T2y arr

(3) fE=rmerT #it |rT
(4) FE3eft qroT

[Question ID = 470][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q137]
1. 1 [Option ID = 1877]
2. 2 [Option ID = 1878]
3. 3 [Option ID = 1879]
4. 4 [Option ID = 1880]

3 e e % s 1 AT F AT T i oy A gt w avhan e 3 a
FLAT TR ?

(1) ITF AI-HATT THG T4 & fow

(2)3% = T F o
(3) T HASTLT TS, AAITFHATA o A=AT T ATHAT Foel  form
(4) IHT AT F ATATL Ieg T F 0

[Question ID = 471][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q138]
1. 1 [Option ID = 1881]
2. 2 [Option ID = 1882]
3. 3 [Option ID = 1883]
4. 4 [Option ID = 1884]

4 agt & o I i TF AgeaTn AfEes =9 g =i aE ST
qi=d F7ar 2 |
(1) ‘TergaT Jrae’ § ‘Hae % o 94T
(2) ‘g=AT HE" F HiET 5 o agAr
(3) ‘AT Hrae 7 Foras ¥ form uger
(4) ‘Torg= #a 7 ‘forae & o ggar
[Question ID = 472][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q139]
1. 1 [Option ID = 1885]
2. 2 [Option ID = 1886]

3. 3 [Option ID = 1887]
4. 4 [Option ID = 1888]
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[Question ID = 473][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q140]
1. 1 [Option ID = 1889]
2. 2 [Option ID = 1890]
3. 3 [Option ID = 1891]
4. 4 [Option ID = 1892]
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[Question ID = 474][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q141]
1. 1 [Option ID = 1893]
2. 2 [Option ID = 1894]

3. 3 [Option ID = 1895]
4. 4 [Option ID = 1896]
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[Question ID = 475][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q142]
1. 1 [Option ID = 1897]
2. 2 [Option ID = 1898]

3. 3 [Option ID = 1899]
4. 4 [Option ID = 1900]
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[Question ID = 476][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q143]
1. 1 [Option ID = 1901]
2. 2 [Option ID = 1902]

3. 3 [Option ID = 1903]
4. 4 [Option ID = 1904]
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[Question ID = 477][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q144]
1.1 [Option ID = 1905]
2. 2 [Option ID = 1906]

3. 3 [Option ID = 1907]
4. 4 [Option ID = 1908]
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[Question ID = 478][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q145]
1. 1 [Option ID = 1909]
2. 2 [Option ID = 1910]

3. 3 [Option ID = 1911]
4. 4 [Option ID = 1912]




1) TR AT AT Ui H T AU ST ST TR0 AT U2 Rl
| A AT FAT H e ST 7 27 a 91 F7 T8l g ?

(1) FTAA-ATATIT TIHTH

(2) T=ATETR ST

(3) FY=ATHF IATTH

(4) FTI-ATLTF T
[Question ID = 479][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q146]
1. 1 [Option ID = 1913]
2. 2 [Option ID = 1914]

3. 3 [Option ID = 1915]
4. 4 [Option ID = 1916]
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[Question ID = 480][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q147]
1. 1 [Option ID = 1917]
2. 2 [Option ID = 1918]
3. 3 [Option ID = 1919]
4. 4 [Option ID = 1920]
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[Question ID = 481][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q148]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]
3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]
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[Question ID = 482][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q149]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4. 4 [Option ID = 1928]
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[Question ID = 483][Question Description = CTET_P1_PART_5_L2_SET_106_HINDI_Q150]
1. 1 [Option ID = 1929]
2. 2 [Option ID = 1930]

3. 3 [Option ID = 1931]
4. 4 [Option ID = 1932]






